111-660

(b)
5 4
(1) ° \@
1) %
10
- 20 ( Cm)
( -2)
( KFC D25 )
(0 <) (Es)
(14 0 c 56.8MPa Es=20,000MPa)
20cm
(2) (G n) NATM
(H) 50 100m 25 5MPa
on 1,3, 5MPa
(Kn)
(Kn) b
C D oc 30 100MPa E (10
30)x 103MPa v 0.3 Kn 256 769MPa/m
852 8521 1-14 TEL (095)843 7229 FAX(095)848 3624

-1319-



57 14 9

(mm)

(mm)

111-660
4
! 3 2 @35 —".
<25 _
2 %
15 —
1
05
0 ,
0 1 2 3 4 5
(mm)
(CNL,Kn=0MPa/m) ——CNL ——— Kn=300MPa/m == Kn=500MPa/m

Kn=700MPa/m e Kn=1000MPa/m

(CNS,Kn=300,
500, 700, 1000MPa/m)

(a)

0.5mm/min 5mm
-3
-4
O n
300, 500 MPa/m
on Kn
Kr=700MPa/m
( 1mm)
ps ® ps
Ks
Kn ps (p ps
Ks Kn

56

-1320-

—CNL === Kn=300MPa/m Kn=500MPa/m

Kn=700MPa/m =====Kn=1000MPa/m

(b)

(o =1MPa)
9
8
g’ '%
= ‘
5 A w
4
E o CNL
3 ® CNS Kn=300MPa/m [
P @ CNS Kn=500MPa/m | |
A CNS Kn=700MPa/m
1 CNS Kn=1000MPa/m[|
o . . .
[0] 1 2 [Ml§a] 4 5
4 60
35 ¥ O 3 s0
3 .7._4 _
© -1 °
MPa Kn E,s - 40 o
S ) 30
15 ¢ Cos
: 20
1
®cC |
4 10
0.5 -
0 . . . . 0
0 200 400 600 800 1000
-3(b) Kn(MPa/m)
Co 9y
4 60
35 —ec | ] 50
— 3 —(m -
) 4 e
%25 —/Ir)—@"sﬁ'l 40 S
C 2w 30
Q rs
L5 1 20
(57 :
0.5 P 310
0 , , , , 0
0 200 400 600 800 1000
Kn(MPa/m)
Cr Qr
35
B 30
3 4 L A
=
2 20 <
4 * i
15
'] A Y
10 Ao =1[MPa]
5 @ o =3[MPa]
Mo =5[MPa]
0 1 1 1 1
0 200 400 600 800 1000
Kn(MPa/m)
-A267 2001.



